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LCD

12

3-1
[ STN LCD
128(w)><33(h)
MPU 8
1/33 Duty
6
3-2
69.6(W)><25.1(H) >=<5.5 Max.(T) mm
128(W) >=<33(H) Dots —
54.6(W)>=<18.1(H) mm
48.61(W)>=<13.83(H) mm
0.38(W)>=<0.42(H) mm
0.35(W)><0.39(H) mm
Approx. 80 g




LCD

3-3
Vdd -0.3 7.0 \Y Vss=0V
LCD Vdd - Vee 0 18 \Y
Vi -0.3 Vdd+0.3 \Y Vss=0V
Top 0 50
Tstg -20 60
— — 90 %RH
3-4
Vdd 2.2 3.0 55
LCD Vdd-Vee — — —
Vih 0.8xvdd| — vdd v
Vil 0 — ]0.2Vvdd
\Voh 0.8xvdd| — vdd
Vol 0 — 0.2vdd
i Vin=Vpp Vss| -1.0 1.0 | pA
Lo -0.3 3.0 | pA
Idd — 0.1 — mA
LCD lee — — —
Ta=0 . . L
@=0=,0=0°
LCD Ta= 25
Vdd-V — . — \%
( ee ©=0=,0=0° 5.5
Ta=50 o o o
@=0=,0=0°
3-5
LCD 0 — —
: \Vop 25  |@=0,0=0°| — 55 — V 125
50 — —
r 0 — 1500 2000
25 p=0=,0=0"—— 150 2001 s 135
d 0 — 3000 3500
25 — 200 250
-35 — 35
FAN 2 .1 1,4
@ | 2 30 — 30 | 469 | 145
K 25 @=0=,0=0=| 2.0 5.0 — — | 156
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LCD

<1>¢ O <2> 2(k=2)

[Vertical]
6=0° ¢=0°
02
6=180° p=-90° 7 >
\
\\
\\
0=270° : 6=90°
\\
\\
[Horizontal]

\
0=0° p=+90°

[Bottom ]

<3>

[ [
Y T

Select Non-select

Non-select Select Non-select Non-select

90%
100%

Brightness

~100%

Brightness
ﬁm%
|

»/j:k 90%
»\Sw%

— Tr F —|{ T7d ~—Time ol Tp = Td FTime

<4>
(ADP) ADP=|DP1-D2|

light source

O

K>2 30°

Detector

contrast =

?1 D2

Viewd | Measuring equipment: DMS
lewing angie (Made in AUTRONIC)




Brightness(x)

LCD

<6> (K)

—_ K)=
B2 is curve of 9
B2

®
=31

Bl

Bl is curve of select dot's brightness
Drive voltage

Brightness(x)

B2 is curve of non-select dot’s brightness
Bl
Bl
=

B2

BL is curve of select dot's brightness

Drive voltage
(B2)
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LCD

5 1/0
5-1. 1/0
1 vdd (+3V)
2 Vss (GND)
3 IRES ( )
4 /ICS ( )
5 RS ' '
6 /WR ,
7 /RD ,
8~15 DB0~DB7 (DB0=LSB, DB7=MSB)
16 Vee LCD
5-2
fosc 7 10 13 KHz
RD tWRDL 450 - tCYC/2-45 ns 1,2
0
RD tWRDH 450 - - ns 1
WR tWWRL 450 - tCYC/2-45 ns 1,2
0
WR tWWRH 450 - - ns 1
tAS 10 - - ns
tAH 10 - - ns
tDDR - - 360 ns
tDHR 10 - - ns
tDSW 150 - - ns
tDHW 10 - - ns
RES tRES 1 - - ms
:1.tCYC
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LCD

twron

bwwrk

twwhL

f.‘AS.

RS, T3 g

\

/

A

DB7-DBO ‘DDH< > toHR
|

f

5-3
5-3-1.
41 3| 2/ 1|0 7 6 5 4 3 2 1 0
- - - - - IR4 IR3 IR2 IR1 IRO
0| 0| 0] 0| 0] RO 1 DI PW 0sC IDTY CN AD
SP STBY R F C
1/0/ 0|/ 0| 1] R1 2 RMW | DDTY | INC BL
K
0| 0| 0] 1] O R2 X XA3 XA2 XA XA
1 0
0] 0|0 1|1 R3 Y YA5 | YA4 YA3 YA2 YAl1l | YAQ
0| 0| 1{ 0| 0] R4 D7 D6 D5 D4 D3 D2 D1 DO
0| 0| 1] 0] 1| RS ST5 ST4 ST3 ST2 ST1 | STO
0| 0| 1] 1| 0| R6 1 BK | BK | BK2 BK BK4 BK5 BK BK
0 1 3 6 7
0] 0| 1{ 1| 1] RY 2 BK | BK | BK1 | BK1 | BK12 BK13 BK BK
8 9 0 1 14 15
0| 1/ 0] 0] O| RS BSL5 | BSL | BSL3 BSL2 | BSL | BSL
4 1 0
0| 1/ 0] 0] 1| R9 BEL BE BEL3 BEL2 BE BE
5 L4 L1 LO
1. 0
2. )
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LCD

5-3-2.
| IR
5 , CS RS ,
| 1(RO)
7
DSP (D6): 1. :0:
STBY (D5): 1: , :0:
PWR (D4): 1: :0:
OosC (D3): 1L ; 0
IDTY (D2): 0
CNF (D1): 1
ADC (DO0): 0
| 2 (R1)
RMW (D3): 1. - - , , 1
0:
DDTY (D2): 0
INC (D1): 1: X 1
0: Y 1
HO H1 H2  sersesssssssssssssssssssssssees HE HF
HOO 4 i
HO1 I
HO2
i Valid area
H20
H'IEI
i invalid area
i |
war [T 1 ! ! Y
a) INC=0
HO H1  H2 ceeccciiicccaiiiciiiioiiiiacces HE HF
HO0 -
HO1 T
HO2
E : 4 Valid area
i |
H20 Y
b) INC =1
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LCD

BLK (D0): 1

0:
X (R2)
X : 1
Y (R3)
Y , 1
(R4)

T N O O N B
7 N

| X address Y address

nput B B .

data H'02 n] H'03 [m] H'04

Output -

Qu apu Undetermined X Data[n,m)] >\Data[n,m+1D
Address < *%) X [n= X [n,m] > [n,m+1]3\ [n,m+2} >

Dummy read

(R5)
LCD
(R6,R7)
R6 R7 8
2 BLK 1
(R8,R9)
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LCD

5-3-3. RAM
X161
X160
LCD panel
X1 | x3 [ x5 | x7 ! )
l X2 ' X4 | x6 ' X8 X128
i i ] | |
Yo|t|oj1[o|1fol1]{0
vyijolt{o(tjoj1]0C 1_
DB7 DBO _
(MSB} (LSB) Display RAM

5-4, MPU
MPU 1/0
MPU 8031
FPo.o-0.7 8 DRO-7
8
3 RS
7/

8031 = 138 |— CE

RD RD

WR WER
RESET ‘ e PESET

RESET
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LCD

6
6-1.
6-1-1
1 20+3
65+20% RH
6-1-2
20W
LCD 30cm
6-1-3 Q)
X Y @& 30° 30 5cm
6-2.
AQL
MIL-STD-105D I
Q/ED-01-98(11)
MIL-STD-105D I
Q/ED-01-98(11)
6-3.
6-3-1
6-3-2
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LCD

6-4.

1)

(1)
3)

)
(4)

2)

Pd(mm)

d=0.3
0.3<d=0.45 3
0.45<P=0.6 1
0.3<Pp 0

(note)

(Note)

3)

(mm)

(mm)

L=10
5.0=L=10
5.0=L=10
1.0=L=10
1.0=L=<10

W=0.03
0.03<W=0.04
0.04<W=0.05
0.05<W=0.06
0.06<W=0.08

L=10| 0.08<W

P NN W

2)

20mm

4)

—

et

G

NN

A+B=0.45| 0<C| D+E=0.3

(85

[ :mm]
F+G=0.35

2
Note: 1)
2)

2
3

2

5)

d(mm)

P=0.7
0.7<P=1.0
1.0<Pp=1.5
1.5<P

(note)

Note: 1)
2)

30mm

6)

Pd(mm)

P=0.4
0.4<d=0.65

0.65<d=1.2
12<d

(note)

7)

=<2) | 3) |/
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LCD

8) LCD
9
10)
11
12)
1)
13) )
(3) HSC TCP
1) (1) LsI IC 50%
(2)LsI IC 50%
(1) 0.45<d> N=1
(2) 0.3<d=0.45 N=1
15) &d: (unit: mm)
(3) 0.5<L N=1
L: (unit: mm)
(1) PCB
16) PCB @)
Q) PCB PCB
17) PCB
)
18)
1)
19) (2) 1 3
7-1. 50 000 (25 )
7-2.
1) 60  96hrs
2) -20 96hrs +10%
3) 40 90%RH  96hrs
4) 70 96hrs
5) -30 96hrs +20%
25 530 -25 70
6) 5(min) 30(min) 5(min) 30(min)
5cycle  55~60%RH
10~55~10hz
7 amplitude: 1.5mm
2hrs for each direction
8
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LCD

8-1.

8-2.

8-3.

8-4.

8-5.

8-6.

LCD LCD
LCD
LCD [ ]
°
LCD
LCD C-MOS LSI
Vdd Vss
- LCD
- LCD
LCD
LCD
LCD
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